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o7 1. Festehett gfaRnfiraT sher strfera shi Streeto
(A) 9T T & T W

(B) f3reteh fea@ o o1at X

(C) et fead o e ™

(D) AT e o HTE T
T 2. IS {<ad ohal THTT ST 27

(A) 10 TE=T T (B) 12 T&sR &t

(C) 14 TR T (D) 16 T T
T 3. I (<ad Tohth SFATG 9T AT STt 87
(A) S, G el el TETHH

(B) . Teuec! TR

(C) <. TSIz J81e

(D) Ufed SaTet oTet J5%
I 4. 1A fead W -t SRt s S
[EZIRIDIV

(A) T TeT@HT
(C) Sierar foram

(B) Faatehet
) RERSICEI

T 5. IO I155 T T 316¢ AT 27

(A) ATH (B) 3o

QXK (D) &<d

957 6. Fertehar gfcRnfiar fora s & STt
STt?

(A) ITd: 10:30 ST & (B) 9Td: 10:00 51 &
(C) ITa: 11:00 <1 & (D) 9Td: 11:30 ST &
@) FreateRaa merier wan & @@t 3 ifem-
3T e UHT ST @ ST STt 37 ST ST STl
T T8 AT 8 FPC I W’ 31 ok Bl 2, foh
T STHE 39 1S 721 9| St oft 3¢ e € for
I3 SR 3W @ T & &, I I8 I ¥ 30T K
3R AT 39T WA o A=aL T AT &1 3 HE SHhT
QT Harel T HTH LT ol ST g2 T Th AT
TG S & ST Her 31feren ot e et war 2
FHPHAT I HISH o &G H ST H & a1t gl T
BT TSN 1 W 2|

T 7. T T | foheh s | S1amam 1T 22

(A) FgT (B) S

(C) 5 (D) e

T 8. FHPHAT Fal @l &7

(A) Fad ST | (B) el ST |

(C) I AR SHH AT T (D) et g &
T 9. T e HPHU shl @It shi 1 Tl qrg uiel?
(A) Hie T BH o HRT (B) FHZST & o 0T
(C) TER BN H HIT (D) FH3IT &I o HI0T

T 10. 9 IS AR FHT h IE G ST 8, T
FHIAT HE W ST BRI I A0 @1t o 31aT
T T AT 27

(A) 319 ST o HTRIT

(B) T % o




(C) 3t o HRIT (D) 3T o SHRIT

T 1. AT A Y AT o 3 A 370t et o6
ITEL T AT 2| {Eifend T168 o1 AT & —

(A) T (B) € |

(C) 3T (D) THITH

() fau e farmmam o sy saTdEe et

T 12. TefRTd T foheh g ST fema mam 2-

(A) Tt Rt fawmr (B) demra forvmt

(C) it TaTer framT (D) ytaror fermr

T4 13. TR €9 e Hei?

(A) 9 T T (B) US I WX

(C) UYeN TR U &1 1 (D) gt @ea o

T 14, Gt BT TR TSR BT 82

(A) FUST & (B) =T &

(OREKIEIE] (D) oI &

T 15. “BIT GreiT T faeim s 82

(A) GeT Ut ESEIH

(C) sta1 gYer (D) ST dYen

(ST) THETHT UGeht T2IT oh [T 3T SifeTu-
greft

Teh ITeX § Ueh greft TeaT of | 98 Ufdfe aruet =t

T TET ST 91| S8k TEd H &Sl i Th goht

oft| it sIgq 2 ame o | greft ekl goh i T Uge
LGS ISTHL I TUTH KLl AT TSf Tl Tk
el @ o foTT 2T o | Tk ot 2sff ot egeht g
T ST T | gsit 39 foT fohelt s & st T o |
BT U1 1 qTE 3HH T STRT | I8 AS hl JOTH
ToRaT ST et o o T 7ot ¥ | o | 5ok
+ 3Hh! G T Y T A | ST Ereft 39 o HROT
forerie 331 | ot 3u et # STt 37T 8 | et
T ST A Estish! GohT T TR fUrerehill sh ae
=it g 8 S o | forerdt it o ¢ o T
BT | ESiT o TGk T STq TR T et et 7T |
T4 16. TSIi Rl ST AT?

(A) FIR (B) &N

(C) uHE (D) @

T 17. ! H Gl 3T 1 R gA

(A) TSIt 3 greft ot Shett Raera

(B) &Sif & &g ol 19 Tord 1 %t TorerT

(C) &it o <15 = el ol U T s I af

(D) BTeft I g H 7T UTt S1eht ohre | theh T
947 18. BTl &S ol e UL Tgereht <Rl ShidT oT?

(A) GaTg (B) JUTH

(C) T ST o (D) % femar o
97 19. Teft € | A1 Fererie 331

(A) S 7 et feam

(B) TS = ITh! TS W FE A A

(C) T - % & [

(D) 1 = geft &l AR

7 20. TR ST STINT AT i H e H Hd
N

(A) BT
(C) dutaet

(B) EI&
(D) Bt




EE-2 Ut gdrereT

T 21. U st | Iford <l 14 forarel wlt €, afe
ek ehelTel T AT 450 UTH €, Tl e | Tl el
fopaait <t

TR f3heT 3R

There are 14 mathematics books in a box, if the
weight of one book is 450 grams, then what will
be weight of total number of books?

(A) 5300 a™H (B) 6300 7™

(C) 7300 I\ (D) 4300 T™H

T 22, T RUTU IS [ ] TUH W HiT &t
AT HT?

Which number will come in place of [ ] in the

question given below?
32+ ]
544
(A) 18 (B) 16

(C) 17 (D) 20

T 23. 3fehell ¥ goh @ AR | <7 7S Tft A
Gl | 38 TR T 500 F9T HI 31 AN A o 19
S fohe T 39 &2

Ankita bought all the items given in the table
from the shop. How many more rupees will she
have to pay after giving two Rs 500 notes to the
shopkeeper?

dfehele chocolate 173 &.
Eakil copy 240 &
T compass 120 &.
et ST school bag 550 &.

(A) 73 ®9¢ (B) 83 79Q

(C) 93 74T (D) 53 ¥9Q

T 24. TN o ITE %, 2000 & 2 712, & 500 % 3
e, €200 % 4 T Teh & 50 % 6 A1 2| TS 6 ITE
e fohaft TifT 2

-

Manoj has 2 notes of Rs 2000, 3 notes of Rs 500,
4 notes of Rs 200 and 6 notes of Rs 50. What is
the total amount of money Manoj has?

(A)®. 6450 (B) ®. 7305

(C)®. 2525 (D) ®. 660

S 25, T T AR Wi H T g T A a S
ST SR U o 9 ol Ueh §1g U1 H 1@ ST &, 36
fTT =61 |1 9T 39k BT

The quantity of milk kept in the four given
containers is given in pic. The milk from these
four containers is to be kept in a bigger
container, which container would be

appropriate?

Gaw|  [aaw]  [wed]  [mord

8,350 diew

(A)

T 26. T [E@US (WA1E) 16 HieT vl 3R 12 Hiex
=ITST 81 T T &7HA T2

A plot is 16 meters long and 12 meters wide.
What will be the area of the field?

(A) 180 afHiex (B) 192 artHtex
(C) 190 afrfiex (D) 200 FiHieX

T 27. T 80 ®UF oL TSI (market) STl 81 30
15 %9 3T U, 35 T 3T Rt 3T 5 T I TR
T 319 HFTE T =red! &, fEeR 7o 60
T T, AT aret T bl TR foha &0 =Mfew?
Rani goes to the market with 80 rupees. She has
bought a pen worth Rs 15, a notebook worth Rs

35 and an eraser worth Rs 5. Now she wants to

buy a compass whose price is Rs 60, then tell me
how many more rupees does Rani need?

(A) 30 &9 (B) 35 ¥

(C) 40 T (D) 45 ¥4




T 28, Ufth § S gAY SATST R 39 W HLEl A1 9
TS — Tick the box which has more time —

(A) | 152130
fime

(B) | 80 e
(C) | 240 firre
(D) | 4230 fime

T 29. T Thel o 150 sl 4 3101 &< aarg|
T Sl A StaTe el feam e weh gHish S s
1 gfaffica St &, af S s<a ol 9e Fama
St foree < Roeer s e fem?

150 children of a school expressed their
interests. Some children did not answer. If one
emoji represent 5 kids, then choose the correct
graphical representation of the children who did

not respond?

OO0 O O
OO0 O
DOLOL O O©
wEReTH | (O O O ©

SIS a1 T8t | 7

"OLOO OO0
“CLEO POOOOOO
T 30. forrmer™ (School) T T (first) FHIRETE
(time period)10:00 am T I BT 2] TIH
kTS 45 ﬁl’—l’éW%,WW(lst period)
TUTH B o 0T ! Fi & Tt (watch) Tefizia
HA 82

The first time period of school starts at 10:00

am. first period 45 minutes. Which watch

displays the time of end of the first period?

(C)

(B) (D)

5 ulasnzerci
L

T 31, T TS TR ¥ foremeayy 2 &i¢ 20 e
T gt 81 3T 10:20 am 1 36 (orTe! § o3t
2, T e foremady fore art ot 2

A train reaches Bilaspur from Raipur in 2 hours

20 minutes. If Sheela boards the train at 10:20
am. Then at what time will Sheila reach
Bilaspur?

(A) 12:40 Am (B) 12:20 Am

(C) 12:40 pm (D) 12:20 pm

1 32. = B el (fruit) % for fog e 2, wfioft
(table) ATV ok TT8 1 ST Tad 37fersh T
el %l o SIS i AT 82

Pictures of some fruits are given below in the
table which one has the lowest and highest

number of fruits?

. esesee
Sy,

PO OO ®
(A) M-3R (B) ShelT-Td
(C) HheT-3TH (D) FAT-3R

T 33. ek AL Widfed 8 B s el 21 At
3G A1 FHTE Y (AT, 1 8 e fobe & sl
HAT?

A laborer works 8 hours a day. If, he worked for

two weeks, how many total hours would he
work?

(A) 80 52 (B) 100 52

(C)112°%2 (D) 110 &

T4 34, WA A / scteh a1 H Foa TR BId 82
How many right angles are there in the green
board/black board?

(A)2 B)3

(C)4 (D)o




T 35. U forermetd ¥ s g0 =4diq T e qa
&1 forr O 29rian T § - = foh e O Ted
ST GHT AT hid &7

The time spent by a child in a school is shown in

the figure. In which work do the children spend

their most of the time?

(A) TS
(C) 9aT$

(B) @
(D) STTaT

T 36. GEAT HIS ITFNT Hich Geid FS! GEdT S50

— Frame the biggest number using number cards.

2 I 6 1

(A) 6721 (B) 6271 (C) 7621 (D) 6172
T 37. 9 T H Hal o W (orange juice) 3T AT
(quantity) & s ® 3Ed 150 faedt <fiet & fohawr
T 1% ST Tkl 82

The quantity of orange juice is given in a big
vessel, how many glasses of 150 ml can be filled
with it?

(A) 6 T (B) 8 T
(C) 10 firem (D) 15 firema
7% 38.4251+13=[ ]3I & (solve) Fd §C

SATST foh @Teft ST (empty box) T i € T
ATT?

=
While solving 4251+13 =[ ], tell which number

will appear in the empty box?
(A) 207 (B) 237
(C) 327 (D) 307

94 39. qﬁ?ﬁ@@a (apple) F 10 Wgﬂ%ml
A 3 & — o it e e T —
@7 fTT Y vt 19 49 & fora feed siw o= 29
Neetu cut an apple into 10 equal pieces. If Neetu
ate 2/10th of them and her sister Radha ate
3/10th of them. How many parts of apple are

left now?

3 4
(A) To (B) To

)= D) —

©) 75 D) 75

37 40. 9= 9 T (picture) o TR R o @a
T 82 How many tenths are there based on the

picture below?

(A) IR EES ST
(C) T3 9 9T

(B) ©: gHd 9T
(D) T8 g 9T

T — 3 YA TaNuT g{eroT

T4 41, ST HAR o sfie § Thet Tk =T T
o1 1 o <A ST T & ST T e 2,
TR —

If you block the path of ants by placing a scale in

the middle of the line of ants, then some ants
move away from their line. It seems because —
(A) I I ST 21 She gets nervous

(B) 3 37T TREAT T2 STt B They lose their way
(C) 3= o7u areft <fifea it wer 7t 31refll They do
not smell their fellow ants

(D) & 319 |FT B et 2

They search for their mates




T 42. TESA AT § STIsll el STIT, 36k 8T §
Stetsit i< i STreft 2, e & e d =iiedi 1 gvg
3 STetsft O STHT BT ST 2| S8 =fifea o forg o7
T IT =TT 22

Rahul brought Jalebi from the market, Jalebi
falls from his hand, within some time a swarm of
ants falls on it. Gets accumulated on Jalebi.
Which quality of ants does this reveal?

(A) <fifet i g w1 s e

Sharpness of vision of ants

(B) =ffeat o G1aa § Te St e

The feeling of living in an organization in ants
(C) =t o o sht et aFmar

Strong sense of smell of ants

(D) =ifeat o fier-afest @M il JramT

The feeling of ants eating together

T 43, U velt foraw we 3tferen e g
&l Bt @ —

The bird which has the maximum capacity to
hear sound is —

(A) 3] owl (B) THITIES bat

(C) 1<t hawk (D) AT crow

T 44, TH 31 H ARTIG i 9g=H 9 o fo7g
TN & T ATl Fle & —

The card used for Citizen Identity Card in our
country is —

(A) ATIR 1€ Aadhar Card

(B) Shfee TS Credit Card

(C) ATM &€ ATM Card

() W #TE Ration Card

T 45. TR TS Foee & i foram a2 —
The sentence below our national emblem is
written -

(A) agﬁa FgFIRH Vasudhev Kutumbakam
(B) TeHg S Satyamev Jayate

(©) forean et fomet Vidya Dadati Vinaya

2 uferenrvercil
=

(D) e wa IiId Ati Sarvatra Varjayate

T 46, FEEIST YSRIT H S @ o fo1e ’E
ST T SYTNT {3 7T B, 38 LT o1 STaTst
EISIGIE

The animal which is used to carry burden in
desert regions is called ship of the desert -

(A) 1T Horse (B) gTefl Elephant

(C) 3¢ Camel (D) @== Mule

T4 47. TETST W =Ied TR HiF o o fIe geiamie
fore T & WX Toeimet STINT ohid 22

Which gas is filled in cylinders that is used by

mountaineers to breathe while climbing

mountains?

(A) :HE@GF[ Nitrogen

(B) TSI Oxygen

(C) 9c®T Sulfur

(D) T SEATFITES Carbon dioxide

T 48, U TH H 35 E=<31 Wi o6 fog
IJART TeRaT STTAT o

was used to send quick messages

in ancient times.

(A) gt (letter) (B) TECHTS postcard

) SR NIE) (inland) (9) et telegram

T 49. T ST IS ST &1 & T2 @R
ar—

If someone is touching you inappropriately —
(A) 39 =9 & You will remain silent

(B) foreft snsft 7 sramait Wil not tell anyone

(C) 38 ST T8 W 3T Herd SATET ST hid
Will tell the person whom you trust the most
(D) T o1 &9 <1 Will blame oneself

3T 50. BTeh! 6T @A & — The game of hockey is —

(A) haet refeRat o feTT Only for girls

(B) FIA TAShI o AT Only for boys




(C) T & TTT for both

(D) foReft 3 foTe & for neither

T 5 1. G IS (U1 6T HHT) § G SATeT
guTferd EraT @ —Most affected by drought (lack of
rainfall) is —

(A) FhieA Lawyer (B) S Doctor
(C) fFa™ Farmer (D) f31e7% Teacher
T 52. UHT T STET W Eld STt Seri Uaf -
et shY EFT T STl &, Faera @ —

A place where endangered wild animals and

birds are kept safe is called —
(A) SITTeT (forest)

(B) TSI 3T (National Park)
(C) XN (sanctuary)

(D) SHfI=IT (Garden)

T 53 .11 Sl A9 =X 9 Tt ek ST 1 Fe1m 9 T

? IS 31T T H TS ol fohe Hehd fog h ATeam @
Gl

Mohan has to make a map to go from his home to
school, then through which symbol will you show

. o
A\

the road in the map? —
(3 (N

% 54. @1 TS T HRI & — The reason for

drought is —
(A) ST o WTehcieh GId shl HH]

Lack of natural source of water

(B) %9 3T Earthquake

(C) 3ATres 9T &7 &IMT Excessive rainfall

(D) %M AT Storm coming

T4 55. Fot SEeRt Ty foh TTa e fereh -
|1 e L 22

Which work do you do the most in the picture

given below?

T T

|
kgﬁ; T/ \ T J
/ \ /
N mfiad \
S~ -

—

(A) g7 3cateT Milk production

(B) WRMUTAT Animal husbandry

(C) & Wt Paddy cultivation

(D) T & @t Sugarcane cultivation

T 56. AT, ToRET o1 o B, iR -
Earthworm is a friend of the farmer because it—

(A) Tt i 3dTar =t FeTaT ®

Increases the fertility of soil

(B) foraTT ST AR haT ®

Entertains the farmers
(OEREICIEIRCIS IR

Eats other living beings

(D) foRaT I FT1eAT © Bites the farmers

W% 57. AT o6 Toarsht Rreasr € | 3 firgdh o o
ST S 2| TR @ o a1rg 911 off AT s @ 39
o STHT LT & —

Asha's father is a craftsman. They make clay pots

and sell them. Whatever money is left after
household expenses, they deposit it in —
(A) EIj\FTH o ¥ In the police station
(B)U==@ ¥ In the panchayat
(C)S% ¥ In the bank

(D) JHdred ¥ In the hospital

%7 58. S g foram ST et v © —
The work done by a doctor is —

(A) Tt =BT TR TS ST

Making Aadhaar card of the patient

(B) Ut T U TS SHMT

Making PAN card of the patient

(C) Tt AT AASTAT T ST

Making voter card of the patient




(D) Tt ST IR AT Treating the patient.
5% 59. T TR wia o o H SEe Sargd i A
forer ST 1 22

Which institution is shown in this picture?

(37) ==l Court (8T) ¥t School

(§) S1h=R Post Office (3) i Bank

T4 60. VT @A s ST I Rl ST = fHeRrer
ST T, TR E -

An account in which deposited money can be
withdrawn anytime is —

(A) fErRITet @TaT Term Account

(B) grater @raT Fixed Account

(C) =g @rdt Current Account

(D) s=Id @T1dT Savings Account

T 61, T THTIo &t e Tarees gaielt giaremg
& STl EET -

The main organization providing health related

facilities in earthquake affected areas is-

(37) WHO (s) IPL

(¥ BPL (@) WWW

T 62. T T A & — The source of protein is-
(A) Tt Pulses (B) WIS Pizza

©) T Burger (D) T Roti

T4 63. &1 UTt o el 3gLd & 39 SIS sl T
T AT 22 What is the place called where ships

stop?

Digit(7 2 (1 |53
LettefW [L M S [I
(A) T9TS TEET Airport

(B) 99 3gST Bus stand
(C)WC‘H@\@T Railway station
(D) d=<¥e Harbour

T 64. 3feh g T H o5 fewre o 570 o e
TET ATATATT GO HIH-4T 82

Which of the following is the cheapest transport
resource in terms of covering long distances?
(A) ¥ I8 Road transport

(B)ag 9fd@ Air transport

(C) STt Uitagq Water transport

(D) ﬂf?ﬁ (¥2T) Underground (metro)

I 65. fort R eae @ 2fgu - v s fored i E,
ST T Y11eh %l 9@ aTell &

Look at the picture carefully — A fruit which has

seeds, which increases the digestive power.

e “ 3 /'_’?j ;
I/ f 7

Ne? e
AT W)

< B
(A) (B) TefferT
(C) Het (D) 3=

T — 4 A ATTERT

T 66. FETIRIT H € 1 0 TR § T S & 3R

FETY ok THE SHTd €| 98 i @18 31 38 T o

weifer T 2

Three of the following are alike in certain way and
so form a group. Which is the one that does not
belong to that group.

(A) Mother (B) Grandfather

(C) Father (D) Wife

T4 67. = TeT T w3 Sht €T ol HERIRad his

¥ SRifed foRaT ST 1 1846 3T I FT &7

The number in question below is to be codified
in the following code. What is the code for
18467

(A) MDNJ (B) MDBJ

(C) MJDB (D) MJBD

T 68. i fU 7T STecT <t Grefen ohH T Sa kY
F




Arrange the words given below in a meaningful

sequence.

I.EIF@FCT Presentation 2. TH®BIRET Recommendation 3.

JATHA Arrival 4 =91 Discussion

5. 9it== Introduction

(A)5,3,4,1,2 (B) 3,5.,4,2,1
(C)3,5,1,4,2 (D)5,3,1,2,4

5% 69. FFfTRad ol dTfehen s § AT
Arrange the following in a logical order:
(from bottom to top)

1. %HT Shoulder 2. % Wrist 3. FigHT Elbow
4. BIA Palm 5. STTAt Finger

(A) 5,3,4,1,2 (B) 3,5,4,2,1
(C)3,5,1,4,2 (D)5.3,1,2,4

%1 70. =it f3Q 7 ¥7e37 T |refeh A H A
ERY

Arrange the words given below in a meaningful

sequence.

2 foreedt Cat

3. 7= Mosquito  4.9IT9 Tiger

1.2 Elephant

5.52 Whale

(A)5.3,1,2.4
(©) 1.3,5.4,2

(B) 3,2,4,1,5
(D) 2,5,1,4,3

T 71. Ueh AAGeh! o Ueh WAk o1 TI= 379 =TT o fuar

9 F I & T A foom deH ASHT FIR |

A girl introduced a boy as the son of' the daughter of

the father of her uncle. The boy is girl's
(A) Brother (B) Son
(C) Uncle (D) Son-in-law

T4 72. ®E Ak A. B, C, D, E 3T F 81 C, F shl 5l&+
21 B, E & Ufd T 4TS 21 D, A 1 fUar 37T F 1 arer 2l

wHg | a1 o, o g ST o Al € A i 22
There are six persons A. B, C, D, Eand F. C is
the sister of F. B is the brother of E's husband. D
is the father of A and grandfather of F. There are

two fathers, three brothers and a mother in the
group. Who is the mother ?

(A)A (B)B

©C (D)E

9973. ABCDEFGHIJKLMNOPQRS
TUVWXYZ.

T SUTHTCT | i §T ST&T, 3R o aT3 SN A1eai
&R & SR UTHTaT o T Qifeh Tk STE o ATS
X THAT &R I |1 22

Which letter in this alphabet is the eighth letter
to the right of the letter and which is tenth letter
to the left of the last but one letter of the
alphabet?

(A)X B)W

O 1 (D)H

T 74 $7 X631 hl AUTLSHA H SHATET Sl S Tl
3T H 3 aTet 1768 9T R T |

Arrange these words in alphabetical order and

tick the one that comes last.
1. Abandon 2. Actuate

4. Acquit 5. Achieve
(A) Actuate (B) Accumulate

(C) Acquit (D) Achieve

w5 75. Fefead § 9 19 Te Fi3a adeh & aum
& 37K Ul T UHE ST 81 98 I |1 8 S 3
Y § Hefaa 6 82

Three of the following are alike in certain way

3. Accumulate

and so form a group. Which is the one that does

() N I 1D A
L Y| |\ |\ |

(A) (B) (9] (D)

not belong to that group?

(A) Sharpener (B) ao?l’g!;ﬁ?{ Calculator
(C) T Eraser (D) 9Tt Pencil

T 76. %9 : 8IS o T : ?Cup: Lip:: Bird : ?
(A) 99 Grass (B) ST Forest




(C) = Beak (D) =€t Bush

w5 77. fag a:réaﬁ:c:@naﬁ Choose the odd pair

of world.

(A) 3T&%: 99T Honey : Money

(B) ST: ettt Rust :Crest

© r: {l:d?ﬁ Nine : Twine

(D) SATT: €37 Fire :Liar

TF-78 |9 : held :: o9 : 2

Grass : Erosion :: Dam : ?

(A) 9T Water (B) STHAT Freeze
(C) % Current (D) STRET Rain
5479 (9), (o), (&) 37 (@) fewme ) 7=
ST H § T TR FoheT 8 & 90 & 3R
Teh STTR(d 3T 21 38 HATHT T T L ST 4 2

(a), (b), (c¢) and (d) are given. Out of these four figures,

three figures are alike in some way and one figure

is different. Select the shape that is different.

¢ @ |©® ¥

T4 80 SIS 3TN T T STThid 31 715 © 37 ITE 3TN
(@), (&l (&) S () Ferfreet =T s mehfca &t
TS 2| I I ST BT T L ST T ST ok
foresrer &M §

A question figure is given on the left side and

four answer figures marked (A), (B), (C) and (D)

are given on the right side. Select the answer
figure which is exactly the same as the question
figure

(A) (B) © (D)
T-81 e feuw e wsy i we hi Efafgd e
hifed foRaT STAT BRI 9341 T IS AT &2

The number in question below is to be codified in the
following code. What is the code for 93417

Digit| 7 1 |5]|3
Letter| W M |S|I

(A) NDBS (B) WBIM
(C) NIBM (D) NBIM

v-82 fFrferfaa & & o= we ffa s g aam 8
I gHICTT Tk HHE ST 2| oI i @1 8 31 36 T8
BRI R

Three of the following are alike in certain way and

so form a group. which is the one that does not
belong to that group?

(A) Tree (B)Plant (C) Shrub (D) Farm
T%-83 RIS AHAILSH UTeh o HE 2| 98 WHg a9 shi
3R @ A o fore e faem § qedt @, a8 form
10T E AT

Khushboo is facing the Amusement park. She

turns in anti-clockwise direction to face the beach,
What angle did she turn through?

(A) 45 degree (B) 135 degree

(C) 225 degree (D) 315 degree

Post Office
Beach Library
K
P T Amusement
Airport-—-m»— R
S~ Park
N
Sports
Railway Club
Station

T51-84 Hafer Thet & TR 2l AT 98 270°
fTUTTEd BH ST T S ST |THAT AT T
Antriksh is facing the School. What would he

/
Community

Centre

befacing if he turns 270° clockwise?

Sy | “Sports Club

“Bus Stand

School




(A) Sports club (B) Market

(C) Bus stand (D) Mall

T%-85 Al AT A o6 FFF0T H & TR AT AR F
1 8, e 35 e STt e foe # 29
If Tanya is in the South of Yash and Yash is in
the East of Aarti, then in which direction is
Aarti with respect to Tanya?

(A) South (B) South-West

(C) North- West (D) North-East

TH-86 31 TS ST H Etel TEraAl hi =HaH Hea
ERIEY

What is the minimum number of straight lines
in the given figure?

(A) 10 (B) 7 5 (D)8
TH-87 =l T3U 71T S1eaT T Wik 37 § ARy
ERY

Arrange the words given below in a meaningful
sequence.

1. TSt Heel 2. %YM Shoulder

3. @l Skull 4. & Neck

5. 92T Knee 6. BTdl Chest

7. Thigh 8. U2 Stomach

9. 980 Face  10. €1 Hand

(A) 3,4,7,9,2,5,8,10,6,1 (B) 3,9,4,2,10,6,8,7,5,1
(C)24,7,10,1,5,8,9,6,3 (D) 4,7,10,1,9,6,2,5,8,3
J4-88 Complete the series:2,5.9, 20,27
(A)16  (B)18 (C)24 (D) 14

T%-89 T uferd shl AR 5 Tt =, it 3T TeT 31

3 Topet =retr, 2T HgT SR 9 foprt =retm) =g dt ST At
3T 3 fopeft shi 1o shi| 37T WHfSreh foig & 'A' fearft
TR?

'A' travelled Westwards 5 km, turned left and

travelled 3 km, turned right and travelled 9 km. He
then travelled North 3 km. How far was 'A' from the

starting point now ?

(A) 3 kms

(C) 10 kms (D) 14 kms

YH-90 P, Q SRR FT WS RIS, RATATRI T, P AT
forar 21 fr=fafaa @ sk wrsem i@ v @
| T8l B el 87

P is the brother of Q and R. S is R's mother. T is
P's father. Which of the following statements
cannot be definitely true?

(A) Tis Q’s father (B) S is P’s mother
(C)pis S’sson (D) Qis T’s son

TE - 5 IS greror
Do as directed.
4-91. Fill up the blanks with suitable subject
or object.
1. bought apples to make jam.
i1. [ write a
94-92. Fix these sentences so the verb agrees
with the noun.

i. The basketball player (lift)

weights to stay strong.

ii. After school, he (will goes)

to the library to study.

iii. Rabindranath Tagore many Poems.

(write/ writes)

T49-93. Join the word parts and write the word.
a b

1. spec isionA

il. comp enium

1. coll ive

iv. mill anion

v. act ific

I9-94. Write in commas where needed.

Tuesday March 21 2018




I4-95. Put the words in the correct order.

1. a student chair sat the on. ™

i1. toys Please, away your put.

9%9-96. Opinion paragraph writing. Tell us what
you think: What is the best food?

T9-97. Write “common” or “proper” next to each
noun:

a. Central Park proper

b. class  Common

99-98. Circle the pronoun that can replace the
underlined words.

Charles puts the books on the table.

(A)Ilt (B)Me (C) Us (D) He
94-99. James has two cats. (Underline the noun)
949-100. Unscramble the words.

(A) sretde (B) Icebicy
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[ Ram,
ii A Letter

Lifts Willgo  writes

1. specific
ii.companion
iii. active

millenium

Tuesday, March, 21 2018

i. A student sat on a chair

ii. Please put away your toys.

Good food is yummy and healthy for our
bodies. It helps us grow big and strong. Fruits
like apples, oranges, and strawberries have
many vitamins. Vegetables like carrots,

broccoli, and spinach are also very good.

They help our bodies fight germs.

i. proper ii. Common

Option d.(he)

James, Cat

i. Desert

ii bicycle




